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ADVANCED FINANCIAL ACCOUNTING
Max Marks: 60

SECTION - A

Answer any EIVE of the following. (5x2=10)

state any two features of Hire Purchase agreements.

State any two features of dependent branches.

State any two differences between Singly Entry and Double Entry system of
book keeping.

What do you mean by Forensic Accounting?

What is Stock Reserve?

The Mumbai head office sends goods to its Puna branch at a profit of 20% on
cost. If Mumbai Head Office sends it for ¥1,20,000. What is its cost price?

How do you allocate the following expenses in departmental accounts?

(a) Discount received (b) Audit fees

SECTION - B
Answer any FOUR of the following. (4x5=20)
Write a short notes on digital transformation of Accounting.

From the following particulars find out the closing balance by preparing Total
Creditors Account:

Opening balance of creditors 21,80,000 ST ALOYSIUS COLLEGE LIBRARY
Payment by cheques ¥4,50,000 MANGALURU- 575 003
Payment in cash 250,000

Bills payable issued ¥10,000

Bills payable honoured ¥2,000

Bills payable dishonoured %500

Cheques issued to creditors dishonoured 2100

Discount allowed by creditors 2400

Returns to creditors 2600

Purchases ¥3,35,000

Show what entries would be passed by the Head Office to record the following
transactions in its books:
a) Goods amounting to ¥2,000 transferred from Mumbai Branch to Bangalore
Branch under instructions from Head Office.
b) Depreciation of Mysore Branch fixed assets when such accounts are
opened in the Head Office books.
c) A remittance of ¥3,000 made by the Chennai Branch to H.O on
26" December 2020 and received by the H.O on 4™ January 2021.
d) Goods of ¥4,000 shipped by the H.O to the Hyderabad Branch on
20" December 2020 and received by the latter on 5™ January 2021.
Contd...2
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11. The Departmental Stores Ltd wishes to ascertain profit or loss made by its
departments A,B and C as the stock cannot be taken, you are informed the
gross profit rate on sales which is 40%, 30% and 20% respectively.

The indirect expenses are charged on the basis of turnover of each

department..
The following are the information:
Particulars ? Dep;. A | Depit. B De;;t. c |

Opening stock 6,000 7,000 3,000
Purchases 7,000 6,500 4,700

' Sales 12,000 10,000 6,000
Advertisement 1,000 1,000 500
Rent 1,020 450 210

The indirect expenses relating to all the departments amounted to %4,200.
Stock reserve is required at 10% on the closing stock. Prepare the Columnar
trading and profit and 0ss account.
12. On 1% January 2022, A bought a television from a seller under Hire Purchase
System, the cash price of which being ¥ 10,450 as per the following terms:
a) ¥ 3,000 to be paid on signing the agreement.
b) Balance to be paid in three equal installments of 23,000 at the end of
each year.
c) The rate of interest charged by the seller is 10% per annum.
You are required to calculate the interest paid by the buyer to the seller each
year.
13. Mr Govind had a branch at Agra. Goods are supplied by Head office to Branch

at cost plus 25%. All the Branch expenses are paid by Head office

2
Stock on 1.1.2005 5,000
Debtors on 1.1.2005 3,000
Petty cash on on 1.1.2005 200 |
| Furniture 6,000
| Goods invoiced to branch ~ 20,000
Returns from Debtors 1,000
Allowances to customers X .. 100 |
Bad debts written off | 50
Cash sales ~ 3,000
£redit sales ' 15,000
Experises at branch: =
Salary 1,000
Reant 900
 Cash paid to head office 16,000
Stock on 31.12.2005 3,000
 Debtors on 31.12.2005 850
| Petty cash on 31.12.2005 200

Write off 10% depreciation on Furniture.

Prepare Agra Branch Account in the books of Mr Govind.
contd...3



G 310 DC 1.2 Page No. 3
SECTION - C

Answer any TWO of the following. (2x15=30)

14. Sugreeva Co. Ltd. purchased a car from Maruthi Motors Ltd. on hire purchase
system on 1.1.2020 and agreed to pay ¥30,000 down, 239,000 at the end of
first year, 236,000 at the end of second year and 333,000 at the end of third
year. Interest at the rate of 10% per year is included in the above installments.
Sugreeva Co. Ltd. depreciated Car at 20% per year on diminishing balance.
Ascertain the cash price.

Prepare necessary ledger accounts in the books of Sugreeva Co. Ltd. and show
journal entries in the books of Maruthi Motors Ltd.

15. A firm has two departments, cloth and readymade clothes. The clothes were
made by the firm itself out of the cloth supplied by the cloth department at its
usual selling price.

From the following figures prepare departmental Trading and Profit and Loss
Accounts for the year ended 31% March 2021:

PARTICULARS Cloth Readymade
Department Clothes
(%) (%)

Opening stock on 1* April 2020 3,00,000 50,000
Purchases 20,00,000 | 15,000
| Sales 22,00,000 4,50,000
| Transfer to Readymade Clothes Department 3,00,000 -
Expenses- Manufacturing - 60,000
Selling 20,000 6,000

Stock on 31% March 2021 2,00,000 60,000 |

The stock in the readymade clothes department may be considered as
consisting of 75% cloth and 25% other expenses. The cloth department earned

gross profit at the rate of 15% in 2019-20. General expenses of the business
as a whole came to ¥1,10,000.

16. A Head office in Kolkata supplies goods to its branch at Chennai at cost. The
branch sells the goods for cash and on credit and remits the proceeds of the
Head office promptly, the branch expenses being met by the Head office by

cheque. The following are the transactions relating to the branch for the year
ended 31.12.2021.

- 3 ST ALOYSIUS COLLEGE LIBRARY
Branch Stock (1.1..2021) 6,000 VANGALURU- 575 003
Branch Debtors (1.1.2021) ~ 8,000
Goods sent, to branch 45,000
Cash saless 22,000
Credit sales 521000
Returns from customers 2 000J
Collections from Debtors 42'000
Discount allowed during the year 2’000
Bad debts written off 1:0004

Cheques sent by head office towards Branch Expenses:

Salaries - 5,000
Rent -~ 2,500
Petty Expenses - 500 Z 8,000

Stock at Branch (31.12.2021) 29,000

Prepare necess i
system, ary accounts in the Head office Books under stock and Debtors
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SECTION A
Answer any FIVE of the following: (5x2=10)

1. Geetha can do a work in 20 days and Neetha can do the same work in 16 days.

If both of them work together in how many days they complete the work.
2. Find the future value of annuity of 32,000 at 10% p.a. C.I. for 10 years.
3. Find the value of x, if (x + 2)(x +3) = (x — 5)(x — 6)

4. The cost of a T.V. is 350,000 and the cost of an Laptop is 60,000. Find the
least sum of money that a person must have in order to purchase a whole

number of T.V or Laptop.

5. In how many years a certain sum of money will be doubled at 8% S.1. p.a?

7. Findthesumof1l+3+5+7+...... +99
SECTION B
Answer any FOUR of the following: (4x5=20)

1 1 1
8. If 22 = 3b = 162¢. Then show thata + 4b = c.

9. Arun deposits X500 every month for 30 months in a bank which pays a S.1 of

6.25% on RD. Find the amount he will receive at the end of 30 months.

10. The height and the diameter of a cone shaped water storage tank is 2.8m and

2m respectively. Find how much water the tank can hold?

11. Find the greatest number which divides 320, 173 and 404 leaving the same

reminder.

12. Find the compound interest on 36,000 at 8% p.a. for 6 years if interest is
calculated half yearly.
13. A square park is of side 150m. A path of width 4m runs around the garden
inside it. Find the area of the path.
Contd...2
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SECTION -C
(2x15=30)
Answer any TWO of the following:
his tw
ishes ivide ¥50,000 among
A father wishes to divi ‘
’ ctively 12 and 15 years old, in such a way that the sum invested at

o sons who are
14.

o both of them
9% p.a. compound interest will give the same amount to

ivided? 10
when they attain the age of 20. How the sum can be divided? (10)

is = = e x is number of goods.
b) Average cost curve of a good is = 10 + =, wher

5
How many units can be produced at cost of 32757 (5)

15. a) In a survey of 400 students, it was found that 160 take eggs, 120 takes
meat and 175 take fish, 55 takes both egg and fish, 26 take meat and fish,
45 take egg and meat, 20 takes all three. Find
i) Number of students who takes at-least one.

ii)  Number of students who take none of these

iii)  Number of students who take only eggs. (10)
B

b)IfA=[1 2 3]andB = [—1 . Show that AB # BA (5)
0

16  a) Alita borrowed a loan of X10,00,000 at 15% C.Lp.a

i) If he repays the loan in 15 equal annual instalments, find the
instalment.

if)  Ifhe repays the loan in 10 equal annual instalments, find the
instalment.
iif)  Ifhe repays the loan in equal annual instalments over unending

period, find the instalment, (10)
ived

b) Two workers A and B, whose salaries were 12,300 and 15,600 rece
an increment in their salaries. If their salaries were increased in the same

ratio, what increment does A receive when B’s salary reach Rs.18,900?

KKk ok k

(5)
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14,
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16.

SECTION - A
Answer any FIVE of the following. (5x2=10)
State four importance of banking.
State any two functions of a banker as a holder for value.
List out the various forms of account holders.
What do you mean by promissory notes?
Distinguish between RTGS and NEFT.
What do you mean by E-payments?
Define the term ‘bank’ as per Banking Regulations Act.

SECTION - B
Answer any FOUR of the following. (4x5=20)

Give the meaning of Endorsement and explain types of endorsements.

What is meant by the term ‘paying banker’? Discuss his duties and
responsibilities in this regard.

Write a short note on mobile banking. ST AL_{?&\"M!!S COLLEGE LIBRAR
MANGALURU- 575 003

Discuss the legal consequences of dishonor of cheque.

Explain the primary, general relationship between a banker and his customer.

Describe the features of small finance banks and payment banks.

SECTION - C

Answer any TWO of the following. (2x15=30)

Critically analyse the various credit control measures that the Reserve Bank of
India implemented in promoting monetary stability in the country,

Explain the precautions to be taken by the banker while dealing with
a) partnership firms b) clubs and associations

Explain various kinds of negotiable instruments, with its specimen and
features.

3k 3k 3k 3 ok ok 3 ok ok %k
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SECTION - A

Answer any FIVE of the following. (5x2=10)

1. An organisation has the following total costs at three activity levels:
Activity level (units) | 8,000 12,000 | 15,000 ]
Total cost $204,000 $250,000 | $274,000 J

Variable cost per unit is constant within this activity range and there is a step
up of 10% in the total fixed costs when the activity level exceeds 11,000
units. What is the total cost at an activity level of 10,000 units?

2. Data relating to a particular stores item are

; ST ALOYSIUS COLLEGE LIBR
as follows: Average daily usage

400 units VIANGALURU- 575 002
Maximum daily usage 520 units
Minimum daily usage 180 units

Lead time for replenishment of

inventory 10 to 15 days Reorder quantity

What is the reorder level (in units) that avoids inventory stock outs?

A company produces and sells a single product whose variable cost is $6 per
unit. Fixed costs have been absorbed over the normal level of activity of
200,000 units and have been calculated as $2 per unit. The current selling

price is $10 per unit. How much profit is made under marginal costing if the
company sells 250,000 units?

4. Selected figures from a firm’s budget for next month are as follows.
Sales ; | $450,000 |
Gross profit on sales 30% ‘
Decrease in trade payables over the month $10,000 |
[Increase in cost of inventory held over the month | $18,000 l‘
What is the budgeted payment to trade payables? :

Michel has the following results. 10,080 hours actually worked and paid
costing $8,770

If the rate variance is $706 adverse, the efficiency variance $256 favourable

and 5,000 units were produced, what is the standard production time per unit?
6. State two merits of Big Data.

Distinguish between Gross Profit & Operating Profit.

Contd...2
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Year | Sales of appliances | Policy sales Price index for electrical goods ]l

$000 (number) (2001=100) i

2003 3,600 400 120 |
2004 6,250 300 125
2005 9,170 600 131
2006 14,000 1,200 140
2007 21,600 1,700 144
2008 27,000 2,200 150
2009 41,600 2,000 160

1
Deflate the appliance sales figures to 2001 prices
Critically evaluate Life Cycle Costing Methods.

The following data relate to the operational performance of the four divisions

of Questor plc

Division

A B o D
$000 $000 $000 $000
Profit 250 400 320 80
Net assets 1,300 2,500 1,600 320

Using ROI to evaluate performance, which division has been most successful?

Explain the four stages of writing a

report.

SECTION - C
Answer any TWO of the following.

ST ALOYSIUS COLLEGE LIE
VIANGALURU- 575 00

I A N
»J ‘\l’ 1.A'. J'_
'l
:

(2x15=30)
The following budgeted statement of profit or loss has been prepared for

Quest Company for the four months January to April Year5:

e

January | February| March| April |
$000 $000 $000 $000
Sales 60.0 50.0 70.0 60.0
Cost of production 50.0 55.0 32.5 50.0
(Increase)/ decrease in inventory (5.0) | (17.5) 20.0 | (5.0) |
Cost of sales 45.0 32.5 52.5 45.0
Gross profit 15.0 12.5 175 15.0
Administration and selling overhead (8.0) {7:5) (8.5)| (8.0)
Net profit before interest 70 5.0 9.0 704
. (R R |

~ Contd...4
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40% of the production cost relates to direct matgrials. Materials a;e
bought in the month prior to the month in which they are used.
Purchases are paid for one month after purchase. . |
30% of the production cost relates to direct labour which is paid for
when it is used.

The remainder of the production cost is production overhead. |
$5,000 per month is a fixed cost which includes $3,000depreciation.
Fixed production overhead costs are paid for when incurred.

The remaining overhead is variable. The variable production
overhead is paid 40% in the month of usage and the balance one
month later. Unpaid variable production overhead at the beginning
of January is $9,000.

The administration and selling costs are paid quarterly in
advanceon1January, 1April, 1Julyand1October. The amount payable
is $15,000perquarter.

All sales are on credit. 20% of receivables are expected to be paid in
the month of sale and 80% in the following month. Unpaid trade

receivables at the beginning oflJanuarywere$44,000.
The company intends to purchase capital equipment costing
$30,000inFebruarywhichwillbepayableinMarch.

The bank balance on 1 January Year 5 is expected to be
$5,0000verdrawn.

Prepare Cash Budget for the quarter of Year 5.
15. A factory consists of two production cost centres (P and Q) and two

service cost centres(X and Y). The total allocated and apportioned overhead
for each is as follows:

P

f Q X Y

$95,000

| $82,000 $46,000 $30,000

It has been estimated that each service cost centre does work for the other
cost centres in the following proportions:

P Q X : ]
Percentage of service cost centre X to| 40 40 - 20
Percentage of service cost centre Y to| 30 60 10 -

After the reapportionment of service cost centre costs has been carried out

using a method that fully recognises the reciprocal service arrangements in the
factory, what is the total overhead for production?

The following data relates to Process 1.,

Materials input 1,000 units costing $10,000

Labour costs $8,000

Overheads $6,000

Normal loss is 4% of input and is sold as scrap for $12 per unit.
Actual output = 944units

Required:

Calculate the average cost per unit in Process 1 and produce the process

account, abnormal gains and losses account and the scrap account.

Ak ok kK kK kK kXK
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SECTION - A
Answer any FIVE of the following. (5x2=10)

1. During the current year an entity had in place $1 million of 6% loan finance
and $2 million of 9% loan finance. It constructed a new factory which cost
$600,000 and this was funded out of the existing loan finance. The factory
took 8 months to complete. To the nearest thousand, what borrowing costs
should be capitalized?

2. Wonder issued $20 million 5% loan notes on 1 January 20X9, incurring issue
costs of $600,000. The loan notes are redeemable at a premium, giving them
an effective interest rate of 7%.What expense should be recorded in
relation to the loan notes; for the year ended 31 December 20X9?

3. Badger acquired 30% of Zagle on 1 July 20X3 at a cost of $5.5 million. Badger
has classified Eagle as an associate undertaking. For the year ended 30
September 20X3, Eagle has reported a net profit of $625,000.

What is the value of the associate investment in the group statement
of financial pesition of Badger as at 30 September 20X3?

4. The following extracts of the financial statements of Wiggo have been

obtained:
$
Inventories 1,30,00?\ sT ALOYSIUS COLLEGE LIBRARY
Receivables | 80,00%1 MANGALURU- 575 003
' Cash 10,000
Loan repayable 20X8 90,000
Deferred tax B 14,000 |
Payables ] 70,000 |
Overdraft _34,000

What is the quick ratio of Wiggo?

5. Tamsin Co’s accounting records shown the following:

$
Income tax payable for the year 60,000
Over provision in relation to the previous year 4,500 |
Opening provision for deferred tax 2,600
Closing provision for deferred tax kS 3,200

What is the income tax expense that will be shown in the statement of

profit or loss for the year?
Contd...2
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Faithful representation is a fundamental characteristic of useful information
within the International Accounting Standards Board’s Conceptual Framework

for financial reporting.
Which of the following treatments applies the principle of faithful

representation?
a. Reporting a transaction based on its legal status rather than its economic

substance.

b. Excluding a subsidiary from consolidation because its activities are not
compatible with those of the rest of the group.

c. Recording the whole of the net proceeds from the issue of a loan note
which is potentially convertible to equity shares as a liability.

d. Allocating part of the sales proceeds of a motor vehicle to interest received
even though it was sold with interest-free finance.

A herd of five 4 year-old pigs was held on 1 January 20X3. On 1 July

20X3 a 4.5 year-old pig was purchased for $212.

The fair values less estimated point of sale costs were:

* 4 year-old pig at 1 January 20X3 $200

e 4.5 year-old pig at 1 July 20X3 $212

e 5 year-old pig at 31 December 20X3 $230
Required:

Calculate the amount that will be taken to the statement of profit or
loss for the year ended 31 December 20X3.

SECTION - B

Answer any FOUR of the following. (4x5=20)
State the accounting treatment for research and development expenditure as
per IAS 38,

On 1 October 20X3, Fresco acquired an item of plant under a five-year lease
agreement. The agreement had an implicit interest rate of 10% and required
annual rentals of $6 million to be paid on 30 September each year for five
years. The present value of the annual rental payments was $23 million.What
would be the current lease liability in Fresco’s statement of financial
position as at 30 September 20X4?

Convert Co issues a convertible loan that pays interest of 2% per annum in

arrears. The market rate is 8%, being the interest rate for an equivalent debt

without the conversion option. The loan of $5 million is repayable in full after
three years or convertible to équity. Discount factors are as follows:

Year Discount factor
at 8%
0.926
2 0.857
3 0.794

Contd...3



11.

12,

13.

14,

G 320 DC3.2 Page No.3

Required:
split the loan between debt and equity at inception an

charge for each year unti! conversion/redemption.

Philip acquired 85% of the share capital of Stanley on 1 October 20X1. The
profit for the year ended 31 December 20X1 for Stanley was $36,000. Profits
d to accrue evenly over the year. At 31 December 20X1 Stanley’s

d calculate the finance

are deeme
statement of financial position showed.:

Equity share capital $200,000

Retained earnings $180,000

What were the net assets of Stanley on acquisition?

The following information has been taken from Preston’s financial statements:
Preston has inventory turnover of six times.

The year-end receivables collection period is 42 days.

Cost of sales for the year was $1,690,000. Credit purchases for the year were
$2,150,000. Preston’s cash cycle at 31 December 20X7 was 68 days

All calculations should be made to the nearest full day, and the trading year
has 365 days.

What is Preston’s trade payables collection period as at 31 December
20X77?

The net assets of Fyngle, a cash generating unit (CGU) are:

$

Property, plant and equipment 200,000
| Allocated goodwill 50,000

Product patent 20,000
(Net current assets (at net realizable value) 30,000 |
As a result of adverse publicity, Fyngle has a recoverable amount of only
$200,000.
What would be the value of Fyngle’s assets after the allocation of the
impainment loss? ST ALOYSIUS COLLEGE LIBRAR)

VIANGALURU- 575 003
SECTION - C

Answer any TWO of the following. (2x15=30)

a) Riyad enters into an agreement to lease an asset. The terms of the lease
are as follows.

1. Prirnary period is for four years from 1 January 20X2 with a rental of
$2,000 pa payable on 31 December each year.

2. The present value of the lease payments is $5,710

3. The interest rate implicit in the lease is 15%.

What figures will be shown in the financial statements for the year

ended 31 December 20X27? (10 Marks)
Contd...4
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' nder a two
b) On 1 April 20X6 Taggart acquires telephones for its sales force u -
: - -
year lease agreement. The terms of the lease require an initial payn’; o
X7 an
$2,000, followed by two payments of $8,000 each on 31 March 20
March 20X8. | "
Show the impact of this lease arrangement on the financia

Comparator assembles computer equipment from bought-in components and
distributes them to various wholesalers and retailers.

It has recently subscribed to an inter-firm comparison service. Members
submit accounting ratios as specified by the operator of the service, and in
return, members receive the average figures for each of the specified ratios

taken from all subscribing entities in the same sector.

The specified ratios and the average figures for Comparator’s sector are shown
below.

Ratios of companies reporting a full year’s results for periods ending between
1 July 20X3 and 30 September 20X3:

Return on capital employed

22.1%
Net asset turnover 1.8 times
Gross profit margin 30%
Net profit (before tax) margin 12.5%
Current ratio 1.6:1
Quick ratio 0.9:1
Inventory days 46 days
Receivables days 45 days
Payables days 55 days
Debt to equity 409,
Dividend yield 6%

Dividend cover 3 times
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statements for the year to 30 September 20X3 are set

Statement of profit or loss

Revenue
Cost of sales

Gross profit
Other operating expenses

profit from operations
Finance costs

Exceptional item (note (ii))

profit before tax
Income tax expense

Profit for the year

Extract from statement of changes in equity

Retained earnings — 1 October 20X2

Profit for the year

Dividends paid (interim $60,000, final $30,000)
Retained earnings - 30 September 20X3

Statement of financial position

Non-current assets
Current assets
Inventory
Receivables

Equity

Ordinary shares (25 cents each)

Retained earnings

S ALOYSIUS COLLEGE LIBRAR)
VIANGALURU- 575 003

Non-current liabilities
8% loan notes

Current liabilities

Bank overdraft

Trade payables

Taxation

$000
2,425
(1,870)

—————

$000 $000
540
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Notes: t < are
i i n-current asse g _
i e deiet e Cost Accumulated Ca"xl:tg
depreciation aﬂ';ooo
$000 $000 e
At 30 September 20X3 3,600 3,060

ses on the sale of a batch of computers
nts in microchip design.
hroughout the year averaged $6

(ii) The exceptional item relates to los
that had become worthless due to improveme
(iii) The market price of Comparator’s shares t
each.

Required: |
(a) Calculate the ratios for Comparator equivalent to those provid

inter-firm comparison service.
(b) Write a report analysing the financial performance of Comparator based on

a comparison with the sector averages. | . -
On 1 April 20X4, Runner Co acquired 80% of Jogger Co's equity shares when

the retained earnings of Jogger Co were $19.5m. The consideration consisted
of cash of $42.5m paid on 1 April 20X4 and a further cash payment of $21m,
deferred until 1 April 20X5. No accounting entries have been made in respect

ed by the

of the deferred cash payment. Runner Co has a cost of capital of 8%. The
appropriate discount rate is 0.926.

The draft, summarized statements of financial position of the two companies

at 31 March 20X5 are shown below:

Runner Co Jogger Co
$000 $000
ASSETS
Non-current assets
Propertyplantandequipment 455,800 44,700
Investments 55,000 -
510,800 44,700
Current assets
Inventory 22,000 16,000
Tradereceivables 35,300 9,000
Bank 2,800 1,500
60,100 26,500
Totalassets 570,900 71,200
EQUITY AND LIABILITIES $000 ;66[; —
Equity
Equity shares of $1each 202,500 25,000
Retained earnings 286,600 28,600
489,100 53,600
Current liabilities
[Trade payables 81,800 17,600
[Total equity and liabilities 570,900 71,200

Contd...7
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(i) Runner Co’s policy is to value the non-controlling interest at fair value at
the date of acquisition. The fair value of the non-controlling interest in
Jogger Co on 1 April 20X4 was estimated at $13m.

(ii) The fair values of Jogger Co's other assets, liabilities and contingent
liabilities ak 1 April 20X4 were equal to their carrying amounts with the
exception of a specialized piece of plant which had a fair value of $10m
in excess of its carrying amount. This plant had a ten-year remaining
useful life on 1 April 20X4.

(iii) In December 20X4 Jogger Co sold goods to Runner Co for $6.4m,

earning a gross margin of 15% on the sale. Runner Cos till held $4.8m
of these goods in its inventories at 31 March 20x5. 5! ALUYSIUS COLLEGE LIBRAR

MANGALURU- 575 003
(iv) Jogger Co still had the full invoice value of $6.4m in its trade receivables

at 31 March 20X5.Runner Co’s payables only showed $3.4m as it made
a payment of $3m on 31 March 20X5 which was not recorded by Jogger
Co until 3 April 20X5.

Prepare the consolidated statement of financial position for Runner Co
as at 31March 20X5.

A ok ok o ok ok ok sk sk ok
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10.

1

12.

13

SECTION - A
Answer any NINE of the following. (9x2=18)

Why UDF is used on documents and write two of its importance?

What is the meaning of originator in approval procedure?

Explain the variables namely ratio and value in defining dunning terms with
example.

Differentiate between Originator and Authorizer explain with Example.
Define Bank Reconciliation Statement?

How do you know that the consignment is updated in ERP system of accounting
from the point of A/P and A/R Accounts?

Expand and describe HSN number

How to view relationship map of Incoming payment in ERP system?

Under incoming payment option in ERP system what is the relevance of Trade
Debtors Domestic Account?

What information as an accountant you gather from Offset account from Trade
creditors Domestic account display window

What is the indication of Trans. No in Trade G/L balance display?

ST ALOYSIUS COLLEGE LIBRAR)

MAN AL ' ()’
MANGALURU- 575 003

SECTION - B
Answer any SIX of the following. (6x5=30)
Prepare A/ P Invoice on vendor named Popular Motors Bangalore on 28/09/2020

with the due date on 11/10 /2020 for the purchase of 500 units of Maruthi Suzuki
S-Presso Wind shield INR 3000/- each.
Prepare House bank account for the same vendor and update vendor master data

using the following information

|

|[Bank Name Account Number Branch ‘

| Indian Bank | 347765458369 Padil Mangalore \

| I
Your company decided to invest on franchisee capitation fee INR 3, 00,000/- to

Life Insurance Corporation of India located in Pune (Vendor). Agreement signed
up on the satisfaction of minimum procurement guarantee of the following policy
types, details are listed in the table below.

Contd...2
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e
— ——— | Cost incurred ;
Insurance Policy Name —#—;”““"'Tﬁﬁ'ﬁ)@_@?— |

| LIC’s Cancer Cover T
LIC’s A a Rakshak B ]
e T | INR200000/-
Star critical illness multi pay IR
— ~ | INR 150000/-

Family Health optima Accident care policy

| INR 1350000/-

Super surplus Insurance

Prepare the following reports in spread sheets
1) Journal entry for the franchisee fee paid to LIC Insurance company Pune and

show report in spread sheet.
2) Create Chart of Account (COA) for all the insurance products.
14. Aravind Motors Bengaluru is Vendor for Automobile units to your company.
Management decided to impalement APP process for the company.
Prepare all the following reports in spreadsheet
a) Vendor master data of Aravind Motors Bengaluru
b) APP process

¢) write a description on the application of APP process in 100 words.

15. Prepare the G/L Accounts Balance Report of VAT Payable (Output Tax) A/c
Number 207000 from the period 1™ April to 31* march of the current financial year
from the ERP system and develop VAT payable analysis report in spreadsheet with

the application of the following criteria.

If Vat payable Local Currency (LC) credit balance is falls in below criteria then

print the recommendation as per below table and develo
spread sheet.

p suitable formula using

S

Criteria | Recommendation | Expected automated Color

Code in Cel]

_—__'_____—_—"‘_———--—-—-—___._.

Not Urgent

—_— e =3

Green
' Urgent © Blue

e e e .
Very Urgent Red
16. Prepare the following tax codes in ERP

System and explain it -
spreadsheet. p it In detail in

VAT 4.5%
VAT 5.5%
VAT28%

VAT45.5%
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Record the following sales A/R and prepare spreadsheet based report on following

sales.

 Business Policy name units | Date Amount
partner Name Excluding Tax
(Customer)
Alwin LIC’s Cancer Cover | 150 1/09/2020 | INR 5000

- Industries

“Sharma group | LIC’s Arogya 250 | 3/09/2020 | INR 1500 |

' of Rakshak
Institutions
Geovani Star critical illness 700 15/09/2020 | INR 8000/-
Builders multi pay
Mrs. Anupama | Family Health optima | 1 2/10/2020 | INR17999/-

| Nair Accident care policy

“Mr. Davis Super surplus 2 10/10/2020 | INR15999
John Insurance

Prepare the receipts from the following customers and record the transactions in

ERP system. Generate final report in spreadsheet with explanation.

Business partner Name Date Amount Received
(Customer) On BP Balance
Alwin . 1/09/2020 Nil

| Industries

' Sharma group of 3/09/2020 INR 30%

" Institutions
Geovani Builders

15/09/2020 INR 80%
2/10/2020 INR100%

J Mrs. Anupama Nair

"Mr. Davis John [0/10/2020 | INR100%
|
SECTION - C
Answer any ONE of the following. (1x12=12)
a) Prepare Dunning letters to the following customers. T RGN GO EREE LR
b) Prepare work flow report of dunning in spread sheet. MANGALURU- 575 003
" Business partner Name " Date Due Date | Invoice open status
(Customer) - Receivable
- Alwin 1/09/2020 | 15/09/2020 | 100%
Industries
Sharma group of 3/09/2020 | 20/09/2020 | 70%

| Institutions

Contd...4
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20.  The information given below was
world Data Solutions Mangaluru.
Prepare the following |
.1~ Complete the cash Recel

Page No.g

extracted from the accounting records of Sky

pts Journal and Cash Payments Journal of Sky

world Data Solutions Mangaluru for October 2019 after taking the

4 0 . . t. .
information provided into accoun | g
1.2 Post to the Bl;nk account in the General ledger of Sky world Data Solutions

st 9
1.3 Prepare the Bank reconciliation statement as at 31 October 201

INFORMATION RS
ank column of each of the cash journals showed the i
. g}ﬁ)ﬁfing totals before the October 2019 bank statement |
was receiv.ed: 8760\{.
Cash Receipts Journal 87850
Cash Payments Journal S _1
2. A comparison of the cash journals of Sky world Data |
| Solutions Furnishers for October 2019 and the Bank
|J Reconciliation Statement for September 2019 with the bank |
| ' statement from Equity Bank October 2019 revealed the
|  following differences N
2.1 | Entries that appeared on the bank statement but not
in the cash journals:
2.1.1 | A cheque previously received from the lessee for the rent 1570
was dishonored because of insufficient funds.
' 2.1.2 | A debit order in favour of Telecom for the personal 700
{_ ' telephone account of the proprietor. ]
' 2.1.3 | Charges levied by Equity Bank:
| Service fees 110
| Cash Deposit Fee 40
| ' Credit card admission 1370 il
| Interest on over draft 120
'2.1.4 | A deposit by Equity Bank into the account of Sky world | 500
|  Data Solutions Mangaluru for interest on Fixed deposit |
2.1.5 | A deposit by tenant, Robin, into the account of Sky world | 900
[ Data Solutions for rent
2.2 | Entries in the cash journals that did not appearinthe |
bank statement
2.2.1 | A deposit made on 31 October 2019 25600
2.2.2 | The following cheques issued during October 2019. [
Cheque no 1750 T = 3170
- Cheque no 1755 1"_:‘_“‘*““* 1040
'3 Additional Information S e
3.1 | Cheque no 1690 (Dated 28 September 2019) which 3000
appeared in the bank reconciliation statement for
September 2019 did not a ear in the |
e twhen 20ie PP bank statement for |
3.2 Checque no 685 issyed to west ; ina Auaner | ions—
2019 as donation must e S August | 1200

exists

October 2019
3.4 The bank account show
[ } 31% October 2019

. _—_‘_—_‘-—_—_____‘———--—-—-——-_______________‘_
Prepare all accounts in spread sheet and develo e S,

be canceled as the club no longer

balance of Rs, 9790 on 1%t

ed a debit balance of Rs 9290 on T

3.3 The bank account in the ledger of Sky world Data Solutions [

Mangaluru reflected 3 debit

P necessary f;
ey Y 1ormula.
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B.Com. (APPRENTICESHIP) Semester II - Degree Examination
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INVENTORY VALUATION
Time: 21/, Hours Max Marks: 60
SECTION - A
Answer any NINE of the following. (9x2=18)
1. Define Stock/ Inventory?
) o o >T ALOYSIUS COLLEGE LIBRAR)
2. Describe the application of price list in ERP. MANGALURU- 575 103
3. What is default factor in pricing?
4. How to set offer pricing ending with 999 in ERP system?
5. What is the concept of Bin Location?
6. Describe Moving average Inventory Valuation method?
7. What is FIFO method in Inventory valuation?
8. What is the meaning of serial/ batch valuation method cost?
9. What is the procedure followed to print bill of materials report for all BOM types?
10. Describe the concept of pick and pack. |
11. Define the objective of recommendation report under MRP wizard?
SECTION - B
Answer any SIX of the following. (6x5=30)
L ' Item Name Market Price | Offer price
_ Van Hussain Shirts INR 700 INR 659
' Peter England Shirts INR 1200 INR 999
' Denim Jeans INR 850 INR 799
Flying Machine INR 1300 INR 1249

Prepare the price list and create spreadsheet based report on the above work flow.

13. Create the following warehouses and enable the Bin Location and project your
report in spreadsheet.

i Code Warehouse name
WH 022 Panjim,Goa
WH 023 Nashik, Maharashtra
WH_024 SP Road, Bengaluru
WH 025 Kadri, Mangaluru

14.  Configure all the warehouses into four sub levels namely

Floor, Room, Raw and Shelf- Prepare Bin location Code composition and report

in detail with spread sheet.
Bin Location Sample: WH_022 - FLI-RM1-RW1_SH]

Contd...2
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Your company rece
sales.

Date and due dates of sales orde

' Posting date 7 [tem name

| Delivery

r are as follows for the followin
" Price in | Quantity

Page No.)

ived following sales orders for the upcoming Mmonsoon season

g Items

| | date INR

l /J_,—/___.___———-——*-—-‘__' '
116/09/2020 | Rain coat 715/10/2020 900 E200 |
53/10/2020 | Three Fold Umbrella | 15/1 /2020 | 175 300 |
25/10/2020 | Kids Rain Coat 15/12/2020 | 800 | 500 J

Create the sales order in spreadsheet.

Based o

prep

basis.

are Material Requirement Planning for the upcoming Christ

and prepare purchase order recommendation report under MRP w

Show the reports in spreadsheets.

Create the following asset master data and report in spreadsheet

n the above sales order dated 16/09/2020, 23/1 0/2020 and 25/10/2020

mas season sales

izard on weekly

Asset Details Asset 1 Asset 2
;T\Iame Barath Benz Truck HP Design Printer T650
ii Reg. Number KA 19 LX 0031 Nil
' Amount INR 50,00,000/- INR 1,50,000/-
- Asset Group Truck: Commercial Printer commercial
“Inventory Number VEH548987 PHPT650
Depreciation rate 18% 40%
| Start date 1/4/2020 1/5/2020 B
| Technician Mr. Iqubal M Mr Akash L |
'[ Capitalization Date 1/5/2020 1/5/2020 j

Export Inventory detailed Audit report to spreadsheet from ERP software. Prepare

a presentable report based on Grouping and subtotal function in spreadsheet, add

the sub total to quantity column against grouped Item

SECTION - C

Answer any ONE of the following.

(1x12=12)

P . - a d

as the search criteria
. Search area must be in header position of the report pfepared'

Procure the followin
g products for the ion
production of Car Epe:
ngine from Jeeta

engineers lItd Pune and |
Ocate to warehouse
code WH 022
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me Price Purchase | Quantity Bin Location E
Quantity | consumed |
for one |
unit '
“Cylinder INR 5000 1 WH_022 - FL1-RMI-
Block 2000/- RWI1 SHI
“Cylinder Head | INR 10000 6 WH_022 - FL1-RMI-
i RW2 SHI
Piston INR 5000 3 WH_022 - FL1-RM3-
A RW1_SH2
|
“Comnecting | INR 10000 1 WH_022 - FL1-RM3-
|
'Rod 4500 RW6, SHE
|
|
Crank Shaft | INR 300 | 10000 3 WH_022 - FL1-RM2-
RWI1_SHI
Gasket INRS5 | 5000 15 WH_022 - FL1-RMI-
RW15 SH11
[
' Crank case INR500 | 10000 ] WH_022 - FL1-RM1-
! RW12_SHI
|
|

Prepare the following reports with explanations.
I) Items procurement list in Item master data before production
2) Bill of material (BOM) of car engine production
3) Production order for 200 units of Finished Car Engine
4) Inventory status list after the production ST ,\1,‘(:1’2‘! iU?1 t(,!ULH(H.} {l;[{_l.iii.-%:{‘:
ANGALURU- 575 003

5) Maintain purchase price as base price for each item.

6) Prepare and release first batch of production order for 200 units.

¥ ok ok ok ok ok ok ok ok ok
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St Aloysius College (Autonomous)
Mangaluru
B.Com.(Apprenticeship) Semester II- Degree Examination

July/August - 9 D23-
BANKING, FINANCIAL SERVICES AND INSURANCE

Time: 21/, Hours Max Marks: 60

SECTION - A
Answer any FIVE of the following. (5x2=10)
Define banking?

What do you mean by wholesale Banking?
What is cash credit?

What do you mean by KYC?

What do you mean by financial service?
What do you mean by Overdraft?

N o s W B e

What do you mean by promissory note?

SECTICN - B
Answer any FOUR of the following. (4x5=20)
Explain the various types of Accounts?
Define Cheques? Explained the characteristics of cheques.
10. What are then documents required for KYC?
11. Explain the features of UTI insurance policy. >T ALOYSIUS COLLEGE LIBRARY
12. Explain the modes of creating charge on securities. MANGALURU- 575 003

13. Explain the need of insurance.

SECTION - C
Answer any TWO of the following. (2x15=30)
14, Explain the role of merchant banker in issue management.
15, Explain the principles of Lending.
16. Explain priority sector lending.

2 3% o ok ok ok dk ok ok x
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B.Com. Vocational (Accounting and Tax)

ADVANCED FINANCIAL ACCOUNTING

Max Marks: 60
SECTION - A
Answer any FIVE of the following.
What is Red Ink Interest?

Name the sequence of Accounting Procedure.

(5x2=10)

Distinguish between Provision and Reserve

What you mean by Memorandum Revaluation Account?

What amount is payable to legal representatives of dead partner?
Distinguish between Receipt and Payment and Income and Expenditure.

Can a company issue shares at discount?

SECTION - B

Answer any FCUR of the following. (4X5=20)

On the basis of following information, prepare Income and Expenditure

account for the year ended 31* March 2010.

| Receipts Rs Payments Rs
To Cash in hand 1,300 | By Salaries 2,58,000
(opening) By Rent 71,500
 To Cash at bank 3,850 | By Printing & Stationery 3,870
(opening) By Conveyance 10,600
| To Subscriptions 4,94,700 | By Scooter purchased 50,000
To Interest on 8% By 8% government 1,00,000
government bonds 4,000 bonds
To Bank interest 160 | By Cash in hand 840
(closing)
By Cash at bank 9,200
| (closing) |
5.04,010 | | 504,010

(i) Salaries paid includes Rs. 6,000 paid in advance for April, 2010. Monthly

salaries paid were Rs. 21,000.
(i) Outstanding rent on 31st March, 2009 and 31st March, 2010 amounted

to Rs. 5,500 and Rs. 6,000 respectively.
(ii) Stock of printing and stationery material on 31st March, 2009 was Rs.

340; it was Rs. 365 on 31st March, 2010.

(iv) Scooter was purchased on 1st October, 2009. Depreciation @ 20% per

annum is to be provided on it.

Contd...2
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(v) Investments were made on 1st April, 2009-
i arc
(vi) Subscriptions due but not received on 31st M

ivel
2010 totalled Rs. 14,000 and Rs. 12,800 respectw? y e
Rs. 700 had been received In a

h, 2009 and 31st March,
on 31st March, 2010,

vance for April,
subscriptions amounting to

2010.

9. From the following extract of Receipts and payment )
additional information, you are required to calculate S Income. rohm
Subscription for the year ending March 31, 2014 and show them in the
Income & Expenditure Account, and the Balance Sheet of a Club.

An extract of Receipts and Payments Account for the year ended 31st March,

2014

To Subscription

2012-13 4,000

2013-14 20,000

2014-15 5,000

Information:

(i) Subscription outstanding on 31.03.2013 Rs 5,000

(ii) Subscription outstanding on 31.03.2014 Rs 4,000

(iii) Subscription received in advance on 31.03.2013 for 2013-14 Rs 5,000
10. On 1st April, 2017, Pehal Ltd. issued 64,500 shares of 100 each payable as

follows:

s Account and the

¥ 30 on application, ¥ 30 on allotment, 20 on 1st October, 2017; and ¥ 20
on 1st February, 2018.

By 20th May, 60,000 shares were applied for and all applications were
accepted. Allotment was made on 1st June. All sums due on allotment were
received on 15th July; those on 1st call were received on 20th October. You
are required to prepare the Journal entries to record the transactions when
accounts were closed on 31st March, 2018

11. The following transactions took place between A and B for the three months
ending 31* March. 2017:

Books of A
Date Particulars Rs
1.1.2017 B 's Opening balance 1,00,000
10.1.2017 Sold goods to B 2,00,000
15.1.2017 Cash received from B 2,00,000
15:2.2017 Sold goods to B 2,00,000
1.3.2017 Cash received from B 1,00,000 |

You are required to calculate the amount of interest

to be Fh':‘idl by one
to the other at 1 ¥ ank: parky

0% per annum using Epoque Method (1 year = 365 days)

Contd...3
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Mr. Shyamal runs a factory, which produces detergents. Following details

were available in respect of his manufacturing activities for the year ended
31-03-2019.

Opening work-in-progress (9000 units) 26,000
Closing work-in-progress (14,000 units) 48,000
Opening inventory of Raw Materials 2,60,000
Closing inventory of Raw Materials 3,20,000
Purchases 8,20,000

Hire charges of Machinery @ r 0.70per unit

manufactured

Hire charges of factory 2,60,000

Direct wages-contracted @ Rs. 0.80 per unit
manufactured
and @ Rs. 0.40 per unit of closing W.I.P.

Repairs and maintenance 1,80,000
Units produced - 5,00,000 units

You are required to prepare a Manufacturing Account of Mr. Shyamal for the
year ended 31-03-2019.

The following transactions took place between Chiron and Berry during the
year 2017-18:

Date Particulars Amount (Rs)
3-Apr-17 Sales by Berry to Chiron 1,17,000
9-Apr-17 Purchases by Berry from Chiron 46,800
8-May-17 | Purchase by Berry from Chiron 79,300
25-May-17 | Sales to Berry to Chiron 1.07,250

They decided to settle their account on average due date.
Calculate Average Due Date and the amount to be paid or received by

Chiron. Any fraction of a day arising from the calculation to be considered as

full day. ST ALOYSIUS COLLEGE LIBR
SECTION - C MANGALURU- 575 D03

(2X15=30)

Answer any TWO of the following.
he balances extracted from the books of Shri Raghuram

The following are t
d style of M/s

as on 31.03.2018, who carries on business under the name an

Raghuram and Associates at Chennai:

Contd...4
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Particulars Debit Credit
Capital Ale 14,11,400
Purchases 12,00,000

Purchase Returns 18,000
Sales 15,00,000
Sales Returns 24,000

Freight Inwards 62,000

Carriage Outwards 8,500

Rent of Godown 55,000

Rates and Taxes 24,000

Salaries 72,000

Discount allowed 7,500

Discount received 12,000
Drawings 20,000

Printing and Stationery 6,000

Insurance premium 48,000

Electricity charges 14,000

General expenses 11,000

Bank charges 3,800

Bad debts 12,200

Repairs the Motor 13,000

Inférést on loan 4,400

Provision for Bad-debts 10,000
Loan from Mr. Rajan 60,000
Sundry creditors 62,000
Motor vehicles 1,00,000

Land and Buildings 5,00,000

Office equipment 2,00,000

Furniture and Fixtures 50,000

Stock as on 31.03.2017 3,20,000

Sundry debtors 2,80,000

Cash at Bank 22,000

Cash in Hand 16,000

TOTAL 473,400 162,000

Prepare Trading and Profit and Loss Account for th
and the Balance Sheet as at that date a

following:

Depreciate Building by 5%,

Equipment by 15% and Motor Car by 20%.

Value of stock at the close of the year was Rs. 4,10,000.

One month rent for godown is outstanding.

Interest on loan from Rajan is payable @ 10%

taken on 01.07.2017

Page No.4

€ year ended 31.03.2018
fter making provision for the

Furniture and Fixtures by 10%, Office

PE€r annum. This loan was

Reserve for bad debts is to be maintained at 5% of Sundry debtors
Insurance premium includes Rs. 42,000 paid towards Proprietor's life

Insurance policy and the balance of the insuran

from 01.04.2017 to 30.06.2018.

ce charges cover the period

Contd...5
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G 340 DC1.2 Page No.5
Fashion Garments Ltd invited applications for issuing 10,000 Equity Shares
of 10 each. The amount was payable as follows:

(i) On Application 1 per share
(ii) On Allotment 2 per share
(iii) On First call 3 per share

(iv) On Second and final Call 4 per share

The issue Was fully subscribed. Ram to whom 100 shares were allotted,
failed to pay the allotment money and his shares were forfeited immediately
after the allotment. Shyam to whom 150 shares were allotted, failed to pay
the first call. His shares were also forfeited after the first call. Afterwards the
second and final call was made. Mohan to whom 50 shares were allotted
failed to pay the second and final call. His shares were also forfeited. Al the
forfeited shares were re-issued at 9 per share fully paid-up.

Pass necessary Journal entries in the books of Fashion Garments Ltd.

Dinesh, Ramesh and Naresh are partners in a firm sharing profits and losses
in the ratio of 3:2:1. Their Balance Sheet as on 31st March, 2018 is as

below:
Liabitities - ()| Assets - @ |
Trade payables | 22500 | Land & Buildings 37,600 |
Outstanding Liabilities ©2.200 | Furniture & Fixtures 7,200
General Reserve - 7.800 | Closing stock 12,600
Capital Accounts: | Trade Receivables 10,700 |
Dinesh 15,000
Ramesh 15,000
Naresh 10,000 40,000
Cash in hand 2,800
____ | Cash at Bank 2.200
12,500 12,500

The partners have agreed to take Suresh as a partner with effect from April,
2018 on the following Items: ST ALOYSIUS COLLEGE LIBRARY
(1) Suresh shall bring. 8,000 towards his capital. MANGALURU- 575 Q03
(2) The value of stock to be increased to 14,000 and Furniture & Fixtures to

be depreciated by 10%.
(3) Reserve for bad and doubtful debts should be provided at 5% of the

Trade Receivables.
(4) The value of Land & Buildings to be increased by 5,600 and the value of

the goodwill be fixed at 18,000.

(5) The new profit sharing ratio shall be divided equally among the partners.
The outstanding liabilities include 700 due to Ram which has been paid by
Dinesh. Necessary entries were not made in the books.

Prepare (i) Revaluation Account (ii) Capital Accounts of the partners,

(ii) Balance Sheet of the firm after admission of Suresh.
sk ok ok o ok ok ok kK K
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LOGICAL REASONING

212 hours Max Marks: 60
SECTION - A

answer any FIVE of the following. (5x2=10)

1. The ratio compounded of 4:9, the duplicate ratio of 3:4, the triplicate ratio of

Time:

2:3 and 9:7 is equal to:

7. IfA={1, 2,3,5, 7y &B ={1, 3, 6,10, 15}. Cardinal number A —B is:

3. A code word is to consist of two English alphabets followed by two distinct
numbers from 1 to 9. How many such code words are there?

4. Babu is Rahim'’s neighbour and his house is 200 meters away in the north-
west direction. Joseph is Rahim’s neighbour and his house is located 200
meters away in the south-west direction. Gopal is Joseph’s neighbour and he
stays 200 meters away in the south-east direction. Roy is Gopal’s neighbour
and his house is located 200 meters away in the north-east direction. Where
is the Roy’s house in relation to Babu’s?

5 A sum of money doubles itself in 10 years at simple rate of interest. The
number of years it would triple itself is equal to:

6. Eight persons A, B, C, D, E, F, G & H are sitting in a line. E sits second right
to D. H sits fourth left to D. C and F are immediate neighbours, but Cis not
immediate neighbour of A. G is not neighbour of E. Only 2 persons sit
between A & E. The persons on the left end & right end respectively are:

7. 1f P$Q means P is the brother Of Q. P#Q means P is the mother of Q. P*Q
means P is the daughter of Q in A#B$C*D, who is the father?

ST ALDYSIUS COLLEGE LIBRARY
SECTION - B MANGALURU- 575 003
(4X5=20)

Answer any FOUR of the following.
8. The number of arrangements of the letters in the word " FAILURE', so that

vowels are always coming together is equal to:
(3 marks)
Ifx:y = 2:3, then the value of (5x + 2y): (3x — ¥) is equal to: (2 marks)

9. If AM between roots of a quadratic equation is 8 and the GM between them

is 5. The equation is equal to: (3 marks)

t lines in a given plane is what
(2 marks)
Contd...2
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G 340 DC2.2 |
e it with compoun

A company borrows Rs. 10,000 on condition to repay it wi P

interest at 5% p.a by annual instalment of Rs. 1000 eacil-

years by which the debt will be clear is

(3 marks)

kmen (x) and fresh workmen (y) for
than 9 people. x
(2 marks)

An employer recruits experienced wor
e
his firm under the condition that he cannot employ mor

and y can be related by the inequality

V5, then the quadratic equation is:

If one root of the equation is 2 +
(3 marks)

If RED is coded as 6720 then, GREEN would be coded as: (2 marks)

The difference between C.I and S.I on a certain sum of mone
years at 6% p.a is Rs. 110.16. The sum is:
The PV of Rs. 50,000 deposited @ 12% p.a compounded monthly:

y invested for 3
(3 marks)

(2 marks)

A person saved Rs. 16,500 in ten years. In each year after the first year, he

saved Rs. 100 more than he did in the preceding year. The amount of money
he saved in the 1 year was: (3 marks)
4 1
Find the odd one out of the following by stating the reason: 2, 3, 3, =3
(2 marks)

SECTION - C

Answer any TWO of the following.

a) _::—:2 is the duplicate ratio of g Then find the value of x:

(2X15=30)

b) The sum of all 4-digit number containing the digits 2, 4, 6, 8 is:

1

c) If G is the GM between a and b. The value of —— + == is equal to:

(5 marks each)
a) Value of (aé + a:;') (aé = a:él) (a% - a-Tl) (a% + a_Tl) is:
b) The ways of selecting 4 letters from the word * EXAMINATION’ is

c¢) Out of 2000 employees 48% preferred Coffee (c), 54% liked (T), 64%
used to smoke (S). Out of the total 28% used C & T, 32% used T & S and
30% preferred C & S, only 6% did none of these. The number of employees
having T & S but not C:

(5 marks each)

. 1= l
a) The equation (—ZE) X"~ —;ﬂ)x +m = 0 has got two values of x to satisfy

the equation given as:

b) If p and g are the roots x* + 2x + 1 = 0 of then the values of p3+q3is:

. x? x* .
c) The sum of n terms of the series logx + log—)-’— + log? + - ...is equal to:

(5 marks each)
¥ ok o ok ok ol sk ok ok ok
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Semester II - Degree Examination
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B.Com. Vocational (Accounting and Tax)
BUSINESS & COMMERCIAL KNOWLEDGE

Max Marks: 60
SECTION - A

Answer any FIVE of the following.

(5x2=10)
What do you understand by the term logistics?

Where are the SEBI headquarters situated?
What do you mean by account balance?
What is NABARD?

Who cannot be a partner in an LLP? ST ALOVS
ST ALOYSIUS COLLI

i o Bl 2D A
izl LIJ‘IL:}‘\{

R
LYARIT ST Fiyy oot = -
--,\.'\-.;.".;‘.!‘E-.E_i' 5771 113

What is the meaning of brand loyalty?
What is a company?

SECTION - B
Answer any FOUR of the following. (4X5=20)
What do you understand by the terms Economic & Non - Economic Activities?
Give examples. |
What is the provision regarding name change in an LLP?
What are the cases where an LLP may be wound up by a tribunal?
Write a short note on Marketing.
What is Doctrine of Indoor Management? What are the exceptions to it?
If given the option between Employment, Profession or Business, at this
given point what would you choose and why?

SECTION - C
Answer any TWO of the following. (2X15=30)
Write a short note on Memorandum of Association & its clauses. How is
doctrine of constructive notice relevant to the MOA?

Explain the types of companies based on the number of members.

a) Write a short note on Section 8 companies. (5 marks)

b) Explain the case law of Salomon Vs A Salomon and Company Limited.
(7 marks)

c) If as a lawyer you were asked to defend a murderer, would you? Answer

' 3 marks)
With your reason. (

sk o ok ok ok ok ok oKk
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ENVIRONMENTAL STUDIES & VALUE EDUCATION
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— =
N = O

IL.

13.
14,

I11,
15,

16,

Iv,
17,
18,

19,
2,

W O N O U B W N e

PART - A
ENVIRONMENTAL STUDIES
answer any TEN of the following Questions: (10x2=20)
what is Environment?
What is ecosystem? Mention its components.
What do you mean by ecological succession?
What is desertification?
What is genetic diversity?
Define biodiversity Hotspot.
write any two objectives of National Environmental Policy.
What are sacred groves?
What is Montreal protocol?
What are biodegradable wastes?

. What is ozone layer depletion?

What do you mean by green belt?

Answer any ONE of the following questions. (1x5=5)
Explain in brief the different threats faced by biodiversity?
What is acid rain? Add a note on its impact on agriculture.

Answer any ONE of the following questions. (10x1=10)

What is water pollution? How it is caused? What are its effects on living

organisms?

. , T ALOYSIUS COLLEGE LIBRARY
Ex i i 5 ST ALOYS
plain the biogeographic zones of India: MANGALURU- 575 003

2

PART - B
VALUE EDUCATION
Answer any ONE of the following in not less than a page.
Explain the factors influencing the identity of adolescence.

(5x1=5)

Explain the goals of counselling.

Answer any ONE of the following in not less than two (10x1=10)

Pages.

Explain the effects of pre-marital sex.

What is drug? Explain the different types of drugs.
¢ 3k 3 oK % ok K K K K
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St Aloysius College (Autonomous)
Mangaluru
Semester II- Degree Examination
B.Com. (Vocational/Apprenticeship Embedded)

July /August - 2022
ENGLISH

Max Marks: 60
ime= 21/2 hrs.

wer any TWO of the following in about 150 \\-fords ' | 5X2=10
Ansl Elaborate on the various strategies involved in Reading Comprehension.

2: Analyse the importance of a Good Resume. What are its major parts?

3. What are Memos? Explain in detail a Business Memo.

Read the following comprehension passage and answer the question that fol{ow.
Between us there was, as I have already said s.omf:whf:rc3 thc. bond of the sea. Besn_:les
holding our hearts together through long periods of separation, it had the effect of making
us tolerant of each other's yarns-and even convictions. The Lawyer-.the best of old
fellows-had, because of his many years and many virtues, the only cushion on declf, and
was lying on the only rug. The accountant had brought out already a b0.x of dommo-es,
and was toying architecturally with the bones. Marlow sat cross—lcgged nghf aft, leaning
against the mizzen-mast. He had sunken cheeks, a yellow complexion, a straight back, an
ascetic aspect, and. with his arms dropped, the palms of hands outwards, resembled an
idol. The Director, satisfied the anchor had good hold, made his way aft and sat down
amongst us. We exchanged a few words lazily. Afterwards there was silence on board the
vacht. For some reason or other we did not begin that game of dominoes. We felt
meditative, and fit for nothing but placid staring. The day was ending in a serenity of still
and exquisite brilliance. The water shone pacifically; the sky, without a speck, was a
benign immensity of unstained light; the very mist on the Essex marshes was like a gauzy
and radiant fabric, hung from the wooded rises inland, and draping the low shores in
diaphanous folds. Only the gloom to the west, brooding over the upper reaches, became
more sombre every minute, as if angered by the approach of the sun. And at last, in its
curved and imperceptible fall, the sun sank low, and from glowing white changed to a
dull red without rays and without heat, as if about to go out suddenly, stricken to death by

the touch of that gloom brooding over a crowd of men. From ‘The Heart of Darkness’, by
Joseph Conrad

The narrator of this passage is telling his story from: SX1=5
A: a wharf. B: the deck of a yacht.

D: the edge of the Essex marshes.

C: a high vantage point.
E: None of the above.

2 The mood of the men in this passage is best described as:

3. From the passage, it is clear that the men:

4, A 6
The word diaphanous’, used to describe the mist, means:

% Give the Synonym of ¢

Aisurly. B:resigned. C: contemplative.  D:restless.  E: ecstatic.

A: do not get along.

B: show a quiet understanding.
bothered with one another ;

C: cannot be
: D: have just had a quarrel.

E: are worn out.

A: almost transparent. B: fragile. C: suffocating. D: silent E: none of the above

he word: Serenity ST ALOYSIUS COLLEGE LIBRARY
MANGALURU- 575 D0

n the above passage using appropriate abbreviations S
s on the passage. 5

9) Make Notes o
) Write a Preci
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ML
a) Write an Email to the HR of your company, asking him / l’ll.?l‘ to grant a week lsong
leave due to family emergency. Mention your name as Harish / Geetha (5)
OR

Write a letter to the Chief of City Corporation on a dangerous electric pole_ that is
posing life threat to the people in your locality. Mention your name as Harish /

Geetha
b) Write a Report of about 200-250 words to the college Newsletter on the Farewell
function organised by your association to your Senior students. ®)
OR

Write a Memo to the Staff of your company on a new Health Policy initiated by
the company and also present the benefits from the policy.

¢) You are Ramesh / Rachal a M.com Graduate with relevant work experience. You
are applying for a job, for the Post of Finance Officer in a reputed Company write
a cover letter and resume with a request to be hired. (10)

IV.  Analyse the following Graph and present the information therein by highlighting
the main features and make relevant comparison wherever necessary. &)

4 v- axis P -.__|_,
| Scale: |
L ~ilunit - 50 apple trees
450 - s

400 e e - e — - ——— i et e ot

350 - F . S e
300 o - :
250 -
200 4 —
150 -
100 —
50 —

o |

number of apple frees——s-

3

2008

2007 2008 2009

e

Years —

V.  How does the Novel ‘The White Ti

ger’ present the picture of Indians, and what
conclusion can you draw from it

(10)
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ENGLISH
ime: 21> Hours Max. Marks: 60
UNIT - I (PROSE)
(A Answer the following in a word/phrase/sentence each: (5x1=5)

|. According to Aruna Roy

theoretically offers every individual
an equal voice in deciding our collective future.

According to George Orwell what is sports at international level?
How is a responsible wife expected to deal with a sick child?

What is the only way in which one can avoid the absurd dilemma of the
superstitions surrounding the ladder?

5, What does PNs mean in the context of the lesson,
Economy’?

B Lo o

‘Black money and Black

B. Answer any THREE of the following in about 150 words each:

(3x5=15)
l. What solutions does Aruna Roy recommend to ensure that the

disadvantaged sections of the society get a better deal?

What is the modern world’s attitude to superstitions?

. Judy Brady establishes the fact that a wife is looked upon as a convenient
instrument or tool for a husband. How is this done?

4. How does Orwell relate sporting spirit to nationalism?

L !‘Q

UNIT - I (POETRY)

I Answer any TWO of the following in about 150 words each: (2x5=10)
L. “The pity of war, the pity of war distilled.” Write a note on the importance

of this line in the context of the poem and Owen’s poetry in general.

2. Write a short note on the effect that the letter had on the mother according
to the poem, ‘Come Up from the Fields Father’.

3. How does the speaker of the poem, ‘Afterwards’ wish to be remembered by
his contemporaries after his death?

% How can life be lost if you are earning your living? Explain with reference
to the poem, ‘Don’t’s’. ST ALOYSIUS COLLEGE LIBRAR
VIANGALURU- 575 003
l UNIT - III (SHORT STORY)
I A

Answer any TWO of the following in about 120 words each.
(2x5=10)
L. Attempt a character sketch of Skvortsov. | . |
2. Write a note on Lushkov’s journey from being in the Russian choir to

Wworking at the notary office.
Contd...2
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the canoe the Santa Rosa.

; : ith
3. Describe the boat’s fateful encounter W s a frightening picture of the

4. The story, ‘The Empire of Ants’, present
ants overrunning the planet. Explain.

- AND WRITING SKILLS)
UNIT - IV (GRAMMAR er necessary.

IV A. Fill in the blanks with appropriate articles wherev (5x1=5)
I. X-ray examination of a recently discovered painting revealed
under image of a woman’s face.
2. Frederick Douglass was unquestionably
American of the nineteenth century.

3. The sight of single actor portraying severa} characters in the
same scene is no longer a shock to the average moviegoer.
New Zealand in the

most famous African

4. Ragwort was accidentally introduced to
late nineteenth century.

5. plant called the scarlet gilia can have either red or white

flowers.

B. Fill in the blanks with suitable prepositions from the list given

below. (5x1=5)
1. On the night before the exam, she was seen pouring the
books.

being fined, he was sentenced to a term of imprisonment.
Peaceful co-existence is possible West and East.

He is French, but he has lived for many years  Polish people.
The children sat the campfire and told ghost stories.
(through, around, among, between, over, besides, into, within)

N

C. Add appropriate question tags for the following sentences. (5x1=5)
1. Everyone played well. ?

2. He knows the answer. ?

3. Few people thought about it. ?

4. The present democracy takes us nowhere. ?

5. He is older than her. ?

&

Give one-word substitutes for the following from the list given

below.
: 5x1=
That which cannot be dealt with successfully. (5x1=5)

One who believes nothing has any value.

Being all of one opinion.

Bitter or wounding remark, especially one ironically worded.
Something out of its proper time.

( sojourn, sarcasm, nihilist, ultimatum, unanimous,

insurmountable, pacifist, anachronism, arj
y aristocracy, j i
3k 3 3ok e ok ok ok ok o o ys ldeallSt)
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o AT & I ferfere (4X1=04)
W%Wﬁ%%?ﬂﬁ%%ﬁﬁ%?
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m%mw%%mﬁzqﬁw-@r%?
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o A TE% qed W & 9fty Al

q@ (aTA) ¥ For T 9SF FT ISR g9l |
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@ 9T § I Al : (4X1=04)

e R e R FRd € 2
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(2X4=08)

T AT § 3ae forfa (3X1=03)
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ml ST ALOYSIUS COLLEGE LIBRARY
HiaTs | VANGALURU- 575 003
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(1X7=07)

(3X1=03)

(1X4=04)

(1X4=04)

(1X7=07)
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St Aloysius College (Autonomous)
Mangaluru

/B sc./B.Com./B.B.A./B.C.A. Semester II- Degree Examination
g.A-/ >

fime: 2

1. A

1.

July/August - 2022
ADDITIONAL ENGLISH

CROSS CULTURAL TEXTS-I

1, Hours Max. Marks: 60

UNIT - I (PROSE)
Answer any TWO of the following in about 100-150 words each:
(2x5=10)
“Toba Tek Singh” is about the madness of Partition. Comment.

2. How does Manu S Pillai criticize the caste system of Kerala in “Savitri’s

IL A

11, A,

Revenge”?
Describe the changes in attitude that occur as a result of two people from

different communities living together with references from the feature “A
Hindu and a Muslim Started Living Together”.

Comment on the significance of the title of the prose “The Ghosts of Mrs.
Gandhi” with examples from the text.

Answer any ONE of the following in about 250-300 words:

(1x10=10)
What according to Amitav Ghosh is a writer’s responsibility during times of

crisis? Contrast Ghosh'’s ideas with your own examples.

"The year was 1905, and scandal was unleashed with a fury unknown.”
Discuss with reference to “Savitri’s Revenge.”

UNIT - II (NOVEL)
Answer any ONE of the following in about 250-300 words:

(1x10=10)
Rita Hayworth and Shawshank Redemption is a novel about hope. Discuss.

Critically analyze any two major themes of the novel.

UNIT - III (POETRY)
Annotate any ONE of the following in about 100-150 words each.

(1x5=5)
Does My sexiness upset you?

Does it come as a surprise

That I dance like I've got diamonds ST ALOYSIUS COLLEGE LiBRARY

At the meeting of my thighs? MANGALURU- 575 003

Out of the huts of

_ history’s shame
[ rise

UP from a past tha
I rise

I'm a black Ocean,
Wellmg and swellin

t's rooted in pain

leaping and wide,
g I bear in the tide.

Contd...2
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And so he spoke, and so he spoke

That lord of Castamere

But now the rains weep o'er his hall

With no one there to hear

Yes, now the rains weep o'er his hall

And not a soul to hear ) i words sachs
Answer any TWO of the following in about 100-150 el

i wen in “Stran
Comment on the futility of war as expressed by Wwilfred O ge

Meeting”. o —
“Still I Rise” is a poem of many metaphors and mmn?s. 2:?;:”5 S
Discuss the universality of the images that E.E Cum g

poetry.

UNIT - IV (Grammar and Writing Skills)

Select the appropriate one-word substitutes from the options
provided: (5x1=5)

Study of religion. (Pious/Theology/Philosophy)
All powerful. (Ominscient/Omnipotent/Omniverse) .
The study of ancient things. (Anthropology/Archaeology/Sociology)

One who is beyond reform. (Institutionalized/Incorrigible/Inept)
Writing one’s own story. (Bibliography/Autobiography/Biography)

Identify the word which does not collocate with the word in bold:
(1x5=5)

Stale: bread, idea, air, job

Make: money, way, brush, breakfast

Left: like, out, behind, turn

Loud: music, sustain, voice, tie

Silky: dress, drink, voice, smooth

Write a movie-review for any movie that YOu saw recently.
(1x5=5)

¥k o ke ok o o ok ok
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St. Aloysius College (Autonomous)

Mangaluru
g.A./B.Sc. /B.Com./B.B.A./B.C.A. - Semester IT -

July / August - 2022
FRENCH
fime: 212 hrs.

Répondez aux questions

Dans quelle ville la féte de la tomates a commencé?
Expliquez le concept de la nuit blanche,

Nommez deux monuments célébres de France.
Nommez deux féte importée en France.

Quand célébre t- on La Féte de la Musique?

Quelle ville organise-t-elle la nuit blanche?

Quand célebre t- on La Féte Nationale?

Ecrivez deux journaux nationaux en France?

. Abel Mutai a gagné la épreuve de cross- country. Vrai ou faux?
10 Qui a signé un contrat de 18millions d’euros?

I1. Combien de personne ont visité I’exposition du peintre américain?
12. Expliquez le programme La grande librarie.

\Doohﬁ]oxu|:t:~‘_-"[‘-"."

Degree Examination

Max Marks: 60

1x10=10

Répondez en utilisant les pronoms relatifs qui, que, ou. 1x5=5

I. Lesstylos ............. il se sert sont trés chers.

2. Jai fait tous les exercices ......... je devais faire.

3. Je connais un homme parle le russe couramment.

4. J'ai téléphoné & mon ami travaille 2 ELF. ST AL '}M’”'! COLLEGE LIBRA
o : TR IGALURY- 575 002

5. J'entends le poeme il a écrit. AR AL ®
Construire les phrase en utilisant les adverb suivant. 1x5=5

Rapid, régulier, joli, pure, prudent

Mettez les verbes au temps indique 1x5=5

1. Je

s (apprendre- futur simple) des verbes par cceur.
Mme. Mathilde____(aller- futur proche) au restaurant.

Mon grand-pere (se promener-présent) tous les matins.
Shan

Est-ce-que vous (faire-passé composé) des crépes ?

(raconter-imparfait) des histoires aux enfants du village.

C‘““Dletez avec les pronoms object directs et inderects. (COD & COI) 1x5=5

1)

Elle parle 4 Rémi chaque matin ? Oui,

J Vous écrivez souvent a vos amis ? Oui,

) Vous connaissez les enfants de Sarah ? Oul,

4
) Altention, tu oublies tes gants ! Oui,

3) Le directeyr nous attend a dix heures ? Non,

a onze heures.

0 y . " 43 ol
Us cherchez dy travail en France. Rédigez votre CV.

10x1=10

Contd...2
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G 750 LAG.2 10x1=19
VII.  Dialogue
1. Au restaurant
2. Au magasin de vétements 10x1=1

VIll.

ions
Lisez le texte et répondez aux question

Delhi, le 12 avril 2020 |

Cheére Pauline, des vont commencer bientdt. Dans cette lettre, je vajs
. . "tu eS

Comment ¢a va ? Je vais bien et mes €

te parler de I'enseignement indien. o o T e
'p . de est gratuit, public et obligatoire jusqu'a
L'enseignement en Inde est gratuit, e dégrée, l'enfant peut commencer son

: : {1 rimai S
dégrées : primaire, secondaire et superleur'. :‘;U p e lécole maternelle, ensuite I'école pri.
A - ! S
i s I e 2 ans jusqua 6 an
parcours scolaires dés 1'dge d

i usqu'a 10 ans. A I'école secondaire, I'enfant f:}'ltre en High S.chool 'a I'age de
Tlaléelie :nz?sagéz avoir passé l'examen du certiﬁcAat de lecoln:: sle7co;ndsa1r§n.ﬁi el?ef:;];if:tre en
Higher Secondary School (lle et 12e classe) a l'age de' 15 5;1 és. gnement
supérieur, qui ouvre la porte du collége et de I'école professionnelle pr s Ao
avoir passé I'examen de 'Higher Secondary'. Au college, on a des choix entre les Arts et les

: _ 3 -5 ans.
Sciences et a 1'école professionnelle apres un concours pour"l Sa ‘ g -
Quand est-ce que tes études vont commencer 2 Expllque—mOI, le SySteme educatii en I‘rance.

J'attends pour ta réponse.

Ali

- - -
- - -
- - -

Cher Ali,
Paris, le 19 mai 2020

Comment vas-tu ? Je vais bien ici et mes études ont déja commencé. Dans cette lettre. je vais te
décrire I'enseignement francais.

L'enseignement en France est un peu différent de celui en Inde. Il est aussi gratuit, public et
obligatoire jusqu'a 16 ans. L'enseignement frangais est divisé en trois dégrées : primaire, secon- ;
daire et supérieur. Au primaire dégrée, I'enfant peut commencer son parcours scolaires des 'age

de 2 ans jusqu'a 6 ans avec 'école maternelle. Ensuite, l'école primaire de 6 ans jusqu'a 11 ans.
I'enfant entre au collége de 11 & 15 ans et puis au lycée a l'age

A l'enseignement secondaire,
de 15 a 18 ans apreés avoir obtenu le diplome de Brevet en lecjuel I
lycée général ou le lycée professionnel. A Ia fin, l'ensei
Baccalauréat qui ouvre la porte de I'Université. A
fessionnelle, les études de technologie, les lettres
Donne mes salutations a tes parents !
Amitiée,
Pauline
Répondez aux questions.
1. A quel age l'enfant commence S0 parcours scolaire en [nde °

Jusqu'a quel age l'enseignement en France et en Inde est obli{.;atoire ?

L'enseignement frangais est divisé e combien de niveayy 2 |

Qu'est-ce que c'est 'Higher Secondary' en
Dites vrai ou faux.

Le systéme scolaire de France et celui de I'Inde sont pareilles
On ne peut pas entrer & I'université francai |
En Inde pour entrer au collége, on a be
7. Ali et Pauline sont |es camarades,
Trouvez dans le texte.

9. La forme nominale du verbe 'enseigner’
10. La forme verbale du nom 'la fip'

enfant a le choix entre le
gnement supérieur aprés avoir passe le

pres le Bac, on peut choisir la formation pro-
» les sciences humains etc.

Ao

Inde et ¢le Bac' en France ?

O 3 O WLn
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Degree Examination

Max. Marks: 60
(5x 1=5)

71 Hours
et £eMo 0GEMBD MU0 4O 13 DO ONAL) ) B>

om0 i@ R0BeIEMUSIRHMN) t&Sen U8 eoadm WosAllnddn
(@ E08mMo agomo@iloyem) ?

[
1.

gg)oMBIQITVo (oeme®OS’ po)adeMEn)Ma] RO PANMOIAT ANsTTSGAD ?
wﬁlﬂm@‘ﬁé‘ QUOYEERSle @OROIMERSLe aRlyamerlam ?

eomipan@ad] @DWODEI@E (AWl en0Ud edS ABmm ag)mo@oym)?
enoeil@d @PR@o (alally] aAldl&:@816S @rrIMIe® Gl
m@m’lmlﬁn&m}(_m@ﬂmo ?

m.t:a-mt:-.)

1. mmmsmm’]orﬁn QVIETGETT) LAV T To \VITe ) PG Y! JEOMROEN) &> (3x4=12)
¢ @ aym@d mlameqomd @eamalnndn @jafl alem) naoSl@m) enlone
enoald@@oRAilm eamomml.
7 o 2Inflocmlenn 80600 alSlje G&@N]ENO®ENOUT TGRS
uemandla ).
8. @ (UMY} @B10E OESOS)TmEnOUD
gQnile aOEID ARl amo ST ALOYSIUS COLLEGE LIBRARY
9. DML H2IEYWIOENIEC DYUSB- MANGALURU- 575 003
S IMOED @RY2I00AMNUSo
MIBOHOD® LOINVO@ONUI0 @R T3
0)80Q VEMo EIERM.

IL  eamenemim) 80)nNEmIe SHAl@oam EmEsa9)M&  (2x8=16)
10, lmomd agam 9210 ENRMBN (AIETD JSHMOWAT ?
1. almonl neam @oem)eenioud e21or1enond amaylad &o)el@emegdo?

2. ar) @yuoomm@)e almonlam@ie eemizandadlalad @oemyniom
mowlesyomy-nfluornosa) s

V. coomemamim) ceejapnemla@ ealwoam pumyavleas  (2x10=20)
13, &8 @Ry (LoaEm1emos AflsaIoe@s M MotNo DO &) OB OIS 16
My dlalolen)mamaieono ?
14, 200w1as MeBMOG® MIE@ASH)M 630) HONIIHRN el
oMo IRleuy & @)S (IED ;& MBU NfleiefloyEm) &
13, NilBloem] agrm @in M@S)LM AVEBUOOAAD ?
1"6' MRIgEmcnlns mAR)D I o (7)

It was Gandhiji who developed Ahimsa or Nin -Violence as a pow.erflul
Weapon, Using this weapon he won freedom for India. He was hlgh\:c
“Onscious about inner meaning of Ahimsa. Gandhiji followed the path o

IMsa as preached by Sreebhudh.Ahimsa is a reflection of kindness STIOWZ
towards aj living beings.An ideal human being is a person Whohfo PV;'ﬂ

'Msa both in words and actions. It was when Ahimsa witnessed t eds'i?he
of thousands of corpses at the battle field of Kalinga that he reahzzeci -
true Meaning of violence. The conscious stricken emperor then deci

accept the Path of Sreebhudha.

a el cds ol



